TOURATECH | 22

TOURING RALLYE RACING TECHNOLOGY

Zertifikat 15 100 42285

Juli 2004

O 9 - O 4 4 N O 2 8 2 B -l Motor Guard InterII:set:iI::i::‘alt:s:!r‘lu;;ioog;

Contains:

1 x Motorguard Intermediate Plate
1 x U-shaped Alum. support

2 x Domehead Screw M6x16

2 x Countersunk Screw M6x16

4 x Nylock nut M6

6 x Washer M6

2 x Rubberized pipe clamp 16m

Installation:
First attach the U-shaped alum. support on the motorguard intermediate plate with the two
Méx16 countersunk screws, M6 washers and Mé nylock nuts.

Put the rubberized pipe clamps on the tube that is quer accross under paralever joint.

Loosen the rear BMW motor guard attachment bolts. Turn them around so that the longer
side of the thread shows donwards. Push the Touratech intermediate plate between the BMW
motor guard and the rubber mounts. (or between BMW motor guard and Touratech motor
guard reinforcement 044-0300 if installed).

Retighten the rear BMW motor guard attachment bolts.

Attach the U-shaped alum. support on the rubberized pipe clamps with the Méx16
domehead screws, M6 washers and mé nylock nuts.

Check the tightness of all nuts and bolts.

These instructions are at our current level of knowledge. Legal requirements do not exist. Technical issues subject to change.



